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2024-2025 Examination D
Notice
1 You must take the exam either in English or Japanese.
2 The English is an approximate translation of the Japanese, not a direct translation.
3 There are five problems from [1] to , printed in English on pages (p21~39).
4 The examination is 50 minutes long.
5 You must not read the problems aloud.
6 You must be sure to clearly write all of the answers on the answer sheet. Only submit
the answer sheet after the examination.
7 When you rewrite an answer, be sure to completely erase what you have written,
then write your new answer.
8 Be absolutely sure to enter your examinee number on the bottom right of both pages

of the answer sheet.
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Examination D

English Version
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WA IZL SRR (English listening test)
XFIFL, M1 ~Mb5ETHLOMB ) L,
(There are 5 problems from 1 to 5)
XAZBXITNC2BT SZEINE T, FEAMKICATZR (TEnEVWEEA, B2 13T
NUEBEARMIZEANL T SV,
(All of the English sentences will be read aloud twice each. You may take notes on the test
booklet. Write all of your answers on the answer sheet.)

11 Jimmy (¥ 3—) SAY Yuna (DL) SANEZ L TWET, 2AD2FZEVT A
BIZEIRERDT~ZDFNL 1 DFN, BT TEZL I\,
(Problem |: Jimmy and Yuna are talking. Listen to their conversation and choose the picture that
best fits the contents of the conversation. Answer with the katakana character of the picture
from “77, “A7, “77 Jor “L7 )

7 = 1

M2 Kota (Z972) XAYEmma (<) IANEDTEIZOoOWTEZLTWET, 2AD
SFHYT~TORBrHVT, 2ADLFTORKZOERIIHT 2EZ2Z Y LTELWED Z,
EINLET~2DOFNL 1 DB, 25 TEZL I,

(Problem 2: Kota and Emma are talking about their summer plans. Listen to their conversation and
options represented by the katakana characters “7” , “4”, “%7” 'and “L” .Choose the
best answer to the question at the end of their conversation, and answer with that katakana
character.)

7 A
7 b sl
13 Joake (Vx4 7) Z3A X Saki (3F) SAE, VATV TRZEXT L0250
FLTWET, 2ADLFTELZHVT, Joke (V24 7) ZL Y Saki (ZF) IAHMEXL
FEDIZEIRERDT~IOFNL NI OF 2B, BT TEZL I\,
(Problem 3: Jake and Saki are talking about what to order at a restaurant. Listen to their

conversation and choose the picture that best fits what Joke and Saki ordered. Answer with the
katakana character of the picture from “77 , “A4” | “7” jor “L7 )

7 1
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fld  Aya (HbX°) SAISMEADFRICEZ 2T RMoNnE LA, 2AdREZRB LN LES
LTWET, 2ADLFTZH S, FEMTIZVWENZ TORBDO T ~IZOF NS 1 DF
U, BT TEZLI\, Aya (HX°) SALFEEIKRDOMEICVE T,

(Problem 4: A man from a different country asked Aya for directions. They are looking at a map
while talking. Listen to their conversation and choose the location on the map below that the
man wants to go to. Answer with the katakana character of the location from “777 , “47”

“7” ,or “L” . Aya and the man are at the %)

b e e g

@ < - T;@
0 5 b

SAL AL LN BY R BT

T -

16 Mary (X7 ) =) ZAM, ARLDBHI(Z ’)\\T?E%i%ﬁ‘b%%%«tfmiﬂ“o
Mary (X 7)) =) SADOEEZHVT, Mary (X7 ) =) SANLEZYDIEHFIZL L L
I, O~BDIZHTULL L%, TOT~ZOFNL I NI o?ogu\mﬁfgz

70 X

L2\

(Problem 5: Mary is showing pictures while giving a presentation about her winter vacation. Listen
to Mary’s presentation and put the pictures “7” , “A4”7 , “7” jand “L” inboxes O~@

according to the order of activities that Mary did. Choose one picture for each of the boxes. )

(Mary (X 71) =) S ADAEKRL]
[Mary’s winter vacation]

R O nd BN N nd O
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Taro and Hanako are planning a Halloween party for the local community.

L

Answer questions | ~5 below

[Conversation(l) between Taro and Hanako]

Taro: I'm going to buy snacks for the Halloween party. Which store should we buy them from?

Hanoko: This time, we're going to buy them online. From my research, we can get snacks from 4
shops, Shops A to D. All of the snacks are the same at each shop. For example, the
chocolates are all the same brand. I organized the details and shipping fees in the
chart. All of the prices include tax. Also, the shipping fees don’t change based on how
much snacks we buy. They are always the same as written in the chart.

Taro: Can we buy just one chocolate?

Hanako: No, we can’t. Each shop requires each snack to be bought in bags.

Taro: I want to buy from the shop with the cheapest price, including shipping fees. In order
to reduce shipping fees, we should choose one shop and buy all of the snacks from
there.

Hanako! Let’s do that. We can think about which shop has the cheapest prices by comparing
while looking at the chart. I want the party to have a variety of snacks too.

Chart
Shop A Chocolates Ibagof | OO pieces ¥1500 Shipping fee ¥8 0 0
Candies Ibagof 250 pieces ¥2000
Gummies Ibagof | OO pieces ¥1 000
Marshmallows | bagof | OO pieces ¥2500
Shop B Chocolates Ibagof | OO pieces ¥1 700 Shipping fee ¥8 0 0
Candies Ibagof | 00O pieces ¥900
Gummies Ibagof | OO pieces ¥1200
Marshmallows | bagof | OO pieces ¥2800
Choose 2 or more types of snacks to get a 25% discount
(Does not include shipping fees).
Shop C Chocolates Ibagof | OO pieces ¥1400 Shippingfee¥1 000
Candies Ibagof 250 pieces ¥1500
Gummies Ibagof | OO pieces ¥1 000 Shipping is free on
Marshmallows | bagof | OO pieces ¥2500 orders totaling more
Gum lbagof | OO pieces ¥800 than ¥20000.
Donuts Ibagof | 2 pieces ¥1000
Shop D Chocolates I bagof 500 pieces ¥5000 Shipping fee ¥6 00
Candies Ibagof 500 pieces ¥5000
Gummies I bagof 500 pieces ¥5000
Marshmallows | bagof 500 pieces ¥5000
Problem |:  Which shop is the cheapest, including shipping fees, for buying 1500 pieces of
gummies?
Problem 2: Buy 3 types of snacks from the 6 types sold by Shop C, but without buying both

gummies and gum. How many different combinations of snacks can you buy?
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Problem 3: Buy 1000 pieces each of chocolate and one other snack. To get the cheapest price,
including shipping, which other snack should you buy, and which shop should you buy them
from? Also, please include the total price.

[Conversation) between Taro and Hanako]

Taro: We have prepared snacks for 432 children, but I'm wondering about something.
Hanako: Is something bothering you?
Taro: Yes. I heard from someone in the community that a new condominium building is being

built, and the number of participants would increase.

Hanako: That's a surprise. How many people will live in the new condominium building?

Taro: The building manager told me that there will be 60 units in the building, but | /5 of them
will be offices, so nobody will live in those. Also, of the families that will live in the rest of
the units, | /4 of them don’t have children. The remaining units will have families with
children.

Hanako: Oh, I see. We have to think about how many more snacks we need to prepare.

Problem 4: Hanako is thinking about how many more children will attend the Halloween party if all
of the new condominium building’s children attend. Write the number that fits correctly in the
blank |:| in Hanako's idea below.

Hanoko™ s idea

Let’s imagine that the families with children in the new condominium building will have at most
3 children each. In that cose, if the maximum number of children from the new condominium
building come to the party, that will be a I:l% increase from the number of children that we
had originally planned for.
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[Conversation®3) between Taro and Hanako]

Taro: At the Halloween party, I think it would be fun to have a riddle of a magical forest.
Hanako: Thot's a goed idea. I think it will be fun to feel the spirit of Halloween while solving the
riddle.

Riddle made by Taro and Hanako

(22 Hal loween Riddle (.2

Alice has gotten lost in the magical forest. There are 4 gates in the forest, and in front of each
stands a guard (Dragon, Goblin, Werewolf, and Vampire). Only | of the 4 gates will allow Alice
to escape the magical forest. Alice asked the magical forest’s residents, and got the following
information about the guards.

@ Of the 4 guards, | is honest and always tells the truth.

@ Of the 4 guards, | is dishonest and always tells lies.

@ Of the 4 guards, 2 sometimes tell truths and sometimes tell lies.

Goblin is dishonest and

. Dragon is honest and
always tells lies.

always tells the truth.

Even if you pass through N
. Even if you pass through the
the gate behind me, you .
gate behind Werewolf, you

cannot  escape  the )
cannot escape the magical

magical forest.
9 forest.

I am honest and always tell

/‘ the truth.

Even if you pass through

Vampire is dishonest and

always tells lies.

j Even if you pass through

the gate behind Werewolf,

. ou cannot escape the
the gate behind me, you 4 P

Werewolf

Which guard’s gate will allow Alice to escape the magical forest?

Vampire magical forest.

cannot escape the

magical forest.

If you solve the
riddle, you can
get a snack!

Problem 5: In the Riddle made by Taro and Hanako, which of the 4 guards is honest and always
tells the truth? Also, which gate will definitely allow Alice to escape the magical forest? Answer
with Dragon, Goblin, Werewolf, or Vampire.
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- In his science club, Taro did an experiment to investigate aqueous solutions.

4

Answer problems |~3 below.

[Conversa
Teacher:

Taro:
Teacher:

Resource |

|
g

(1) Firmly

/ Filter Paper filter paper with

filter paper in half. filter paper in fourths. paper that look like a bag.

tion O between Taro and his teacher]
This white powder is a chemical called potassium nitrate. Let’s try investigating how
much of this chemical will dissolve in water. Have you planned out the experiment?
Yes. I’ m planning to do 2 experiments. [ Experiment (D] investigates the
relationship between the amount of water and the amount of potassium nitrate that
will dissolve. [ Experiment @ ] investigates the relationship between the
temperature of the water and the amount of potassium nitrate that will dissolve.
You are going to use filtration for both [experiment(D] and [experiment@],
right? In that case, check resourcel for the filtration procedure, and then get
started on [experiment(D].

_ Filtration procedure The side of the

=4 three layers R
L =
[l s

(3) Open one of the two
fold the (2) Gently fold the parts of the folded filter

a funnel and firmly fold it. with water so that it sticks to  filter paper with three layers, and attach the

the funnel long end of the funnel o the inside of a beaker

Problem | A small amount of sand was mixed into water, and then that water was filtered according

to the procedure in resourcel. After taking the filter paper out of the funnel and opening it,
which area of the filter paper do you think will have the collected sand? Answer with the
katakana character of the most appropriate image below from “77, “A”, “” “T” or “#”.
Note that the dotted lines represent the folds in the filter paper, and the dark areas represent
the areas where the sand is collected.

7 1 7 T 1
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[Experiment (D]
{Prepared materials)

[IPotassium nitrate LWater LIThermometer [IGas burner
OLarge beaker OGloss rod OFunnel OFilter paper
UFunnel stand (IDigital scale [OBeakers ®~®@

{Procedure)

| Add water to the large beaker, and use the gas burner to heat the water to 80°C.
2 Prepare 4 of the same kind of beaker, labeled ®, ©, @, @, and add 40g of potassium
nitrate to each, as measured by the digital scale.
3 Take the water that has been heated to 80C and add 25mL to beaker®, 50mL to beakerQ,
75mL to beaker®, and 100mL to beaker@. Stir the mixtures well with the glass rod.

==
D Y Y Y
@) ) () @
4 Cool beakers®~@ to 10C,
5 Separately filter the aqueous solutions in beakers®~@), and use the digital scale to weigh
the potassium nitrate that is collected in the filter papers. Make sure that all of the collected
potassium nitrate is taken out.
(Results)
-In {Procedure) step 3, all of the potassium nitrate in all of the beakers completely dissolved
in the 80°C water.
-In {Procedure) step 4, grains of potassium nitrate could be seen at the bottom of all of the
beakers.

-In {Procedure) step 5,the weights of the collected potassium nitrate are shown in table |.

Table | Weight of Collected Potassium Nitrate Grains in [experiment(D]

Beaker @ © ® @
Weight of grains (g) 34.5 29.0 23.5 18.0

[Conversation @ between Taro and his teacher]

Teacher: [Experiment(D] went well. Let’s move on to [experiment2].

Taro: In [experiment®], I am planning to cool the water with dissolved potassium nitrate
down to OC, but the aqueous solution won’t freeze, will it?

Teacher: Pure water will begin to freeze at 0°C, but water mixed with table salt or potassium
nitrate is harder to freeze. Therefore, it won’t freeze until the temperature gets lower
than O°C, and you don’t need to worry about the aqueous solution of potassium
nitrate freezing.
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[Experiment(®)]
{Prepared materials)

OPotassium nitrate OWater OThermometer OGas burner
ULarge beaker UGlass rod UFunnel UFilter paper
OFunnel stand ODigital scale  [0Beakers®~®@

{Procedure)

| Add water to the large beaker, and use the gas burner to heat the water to 80C.

2 Prepare 5 of the same kind of beaker, labeled ®.®.®. . @, and add | 60g of potassium
nitrate to each, as measured by the digital scale.

3 Take the water that has been heated to 80°C and add | 00mL to each beaker®~®, Stir
the mixtures well with the glass rod.

® @ ® ®© @
4 Cool beaker® to OC, beaker® to 10°C, beaker® to 20°C, beaker® to 40°C, and
beaker@® to 60°C.
5 Separately filter the aqueous solutions in the beakers, and use the digital scale to weigh the
potassium nitrate that is collected in the filter papers.

(Results)
-In {Procedure) step 3, all of the potassium nitrate in all of the beakers completely dissolved
in the 80°C water.
-In {Procedure) step 4, grains of potassium nitrate could be seen at the bottom of all of the
beakers.
-In {Procedure) step 5, the weights of the collected potassium nitrate are shown in table 2.

Table 2 Weight of collected potassium nitrate grains in [experiment(®]

Beaker ® ® ® @) @

Welghf(;ﬂ; grains | 46.7 128.4 6. | 50. 8

Problem 2 Answer the following questions, (1) and(2). Do not consider that evaporation may
have occurred between [experiment®] and [experiment®]. Further, the weight of ImL of
water is | g, regardless of temperature.

(1) According to the results of [experiment(D], answer the correct number in the blank of

table2. Additionally, explain your answer with words and equations.
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(2) According to the results of [experiment] and [experiment®], select the katakana
character from “777, “A47, “”, “L”of the graph below which correctly represents the
connection between water temperature and the limit of how much potassium nitrate will
dissolve in 150mL of water. Note that the weight of potassium nitrate when the water was
at |0°C has been omitted.

200

aoS | 0Bt )

a2 n43
I e ——— _
o S _______________________ | o _
539 530
~" 7100 it
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o o
3 3‘3 3 3‘3 )
3= '_éi
% S0
-3 & 3 §
g 3 (CT)a 3 G0
E_':i(cg 0 0 20 40 60 E':i(cg u 0 20 40 60
Water Temperature Water Temperature

Taro heard that a battery can be made depending on the combination of 2 different metals and
an aqueous solution, so he used an electronic music maker to perform [experiment®] .
Resource2 shows Taro’s notes about electronic music makers and batteries.

Resource 2 About electronic music makers and batteries

+An electronic music maker is the tool shown to the right, and it has conductive
a +(positive) conductive wire and a -(negative) conductive wire. wire
-If you connect an electronic music maker’s + conductive wire o
the + side of a battery, and the - conductive wire to the - side conductive
of a battery, it will moke a sound. One other feature of an
electronic music maker is that if you connect the + conductive

wire to the - side of a battery, and the - conductive wire to

the + side of a battery, no sound will be made.

*When a battery is made of a combination of two different metals,
it is determined which metal becomes the - side, and which
metal becomes the + side. Some metals more easily become the
+ sides or - sides, and the orders for which metals more easily
become + and - sides are the inverse of each other.

,2 9,



[Experiment®)]

{Prepared materials)

[CJElectronic music maker [1Beaker [JConductive wire (ODiluted hydrochloric acid
LEthanol aqueous solution [Steel bar LICopper bar UAluminum bar
CSandpaper

{Procedure)
| Use sandpaper to polish two kinds of metal bars, A and B. Metal Bar A Metal Bar B
Place them so that they don’t touch each other in a
beaker which contains an aqueous solution, as shown in

the image to the right.
2 Connect the electronic music maker’s + conductive wire
to metal bar A, and the electronic music maker’s -

conductive wire to metal bar B. Check to see if the Aqueous

electronic music maker makes a sound. Solution
3 Change the combinations of aqueous solutions and metal

bars A and B, and check to see if the electronic music v

maker makes a sound in the various combinations.

(Results)
-As shown in Table 3
Table3
Aqueous Solution Metal Bar A Metal Bar B Elec'rr'“\c/lazllz:efound

Diluted Hydrochloric Acid Steel Bar Copper Bar |Did not make a sound
Diluted Hydrochloric Acid Copper Bar Steel Bar Made a sound
Diluted Hydrochloric Acid Steel Bar Aluminum Bar Made a sound
Diluted Hydrochloric Acid Aluminum Bar Steel Bar Did not make a sound
Ethanol Aqueous Solution Steel Bar Copper Bar | Did not make a sound
Ethanol Aqueous Solution Copper Bar Steel Bar Did not make a sound
Ethanol Aqueous Solution Steel Bar Aluminum Bar | Did not make a sound
Ethanol Aqueous Solution Aluminum Bar Steel Bar | Did not make a sound
Diluted Hydrochloric Acid Copper Bar | Aluminum Bar 7

Diluted Hydrochloric Acid Aluminum Bar | Copper Bar A

Ethanol Aqueous Solution Copper Bar | Aluminum Bar 7

Ethanol Aqueous Solution Aluminum Bar | Copper Bar T

Problem3 In [Experiment @], which one of the spaces in Table 3 can we expect to show the result
of “made a sound” ? Answer with the katakana character from “7”, “A4”, “9”, or “I”.
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Taro and Hanako are talking about elections.

Answer problems | ~4 below.

[Conversation(D between Taro and Hanako]
Taro: I read an article in the newspaper the other day about interest in elections
and voter turnout, and how those are different from generation to
generation.

Hanaoko: Is that so? How are they different?

Taro: Resourcel to resource3 are the results from a survey taken of eligible voters
after the election of members of the Lower House in 202 1.

Hanaoko: I see. So this is how different they are.

Resource | Interest in Elections by Age Group

: - Somewhat Not ver raINot at all ,
O3 Very interested B 11 ected interest)efd Dinterested @ Don’t know
Total (1501 people) 26.6 RAAA T 228 557 os

Age 18~29 (123 people)

¥ Voter participation is the percentage of people who answered “I voted” to the

question “Did you vote in this (202 1) election of members of the Lower House?”

(Resource |, resource2, and resource3 are based on the “49™ Member of the Lower

Age 30~39 (164 people)| 1.8
Age 40~49 (227 people) | 7500
Age 50~59 (239 people)I o8
Age 60~69 (289 people)|
Age 70~79 (306 people) \
80 and older (153 people) [ 38,:(3 : g lsE 0.7
@) 20 40 50 80 100 (%)
Resource2 Voter Participation by Age Group  Resource3 Voter Turnout by Age Group
Voter participation (%) Voter turnout (%)

Age |8~29 62.8 Age |8~29 37.6

Age 30~39 66.0 Age 30~39 47, |

Age 40~49 70.9 Age 40~49 55.6

Age 50~59 77.3 Age 50~59 63.0

Age 60~69 83.9 Age 60~69 7.4

Age 70~79 88.3 Age 70~79 72.3

80 and older 81.8 80 and older 48.6

House General Election National Interest Survey —Results Summary— (March, Reiwa

4)” by The Association for Promoting Fair Elections Public Interest Incorporated

Foundation.)



Problem| Which of the following best describes what we can understand from resourcel and
resource2? Answer with the katakana character from “7”, “A”, “9”, or “x”.

7 The sum of the percentages of people who answered that they were “very
interested” or “somewhat interested” in elections was the lowest for those in their
20s and younger, and did not reach 50% for even those in their 30s. Comparing the
differences in the sums of the percentages of those in their 20s and younger and
those in their 30s, the difference in voter participation was roughly the same.

4 The sum of the percentages of people who answered that they were “very
interested” or “somewhat interested” in elections was above 60% for those in their
40s and older, and increased as age groups went up, with 80 and older being the
highest. In the same way, voter participation also increased with age group.

7 In terms of voter participation by age group, those in their 20s and younger had the
lowest compared to other age groups, but the sum of the percentages of people in
their 20s or younger who answered that they were “very interested” or “somewhat
interested” in elections was higher than their voter participation.

I Looking at voter participation by age group, those in their 70s had the highest,
followed by those in their 60s, and then those 80 and older, but the sum of the
percentages of people who were 80 and older who answered that they were “very
interested” or “somewhat interested” in elections was higher than that of people in
their 60s.

[Conversation(D between Taro, Hanako, and their teacher]

Taro: I thought that the voter turnout in resource3 and the voter participation in
resource2 would be similar, but the numbers are different. When I graphed
them, the graphs did have similar shapes, but...

Hanako: The results in resourcel and resource2 are not taken from all eligible voters,

but from a survey of some of them. That might have an effect.

Teacher: That’s exactly right. When we use something like a survey to investigate
some people, and use that to guess about the whole group, we call it
sampling. The sample is the people who we pick out to represent the whole
group that we are investigating. The method that investigates every member
of the group is called a complete examination. When it is something related
to safety, it is necessary to do a complete examination, but when you can’t
investigate everything, sampling is suitable.

Taro: Complete examinations are more accurate, so isn’t it better to use a complete

examination for everything?

Hanako: That isn’t always true. Look at the different specific types of investigations

and think about it.

Problem2 Answer the question below.
(1) Which situation is suitable for sampling and not a complete examination? Answer

with the katakana character from “77”, “A4”, “9”, or “x”,

7 Baggage inspections to prevent dangerous goods from being brought in to an
airport.

1 Goods inspections at a factory to check whether there are pins left in stuffed
animals that are produced there.

7 Health check at a school to measure students’ height and weight development.

I Investigations about the sweetness of fruits to decide the time to harvest.
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(2) A survey is being taken of 3000 people from a total of 80000 people. In order to
take a sample evenly, the total number has been divided into groups as shown in
resource4. Each group will have the same percentage of people answer the survey.
How many people from Group F should answer the survey? Answer with a number.

Resource4
Group A 9000 people Group D | 6000 people
Group B | 4000 people Group E 6000 people
Group C 23000 people Group F 12000 people

[Conversation@ between Taro and Hanako]

Hanako: Speaking of elections, I heard that pretty soon we’re going to be voting for
elementary school student council members.

Taro: I'm in charge of making the ballot box for those votes.

Hanako: I'm sure you got chosen because you’re good at arts and crafts! What kind
of ballot boxes are you going to make?

Taro: Right now I’m thinking about that. After I decide, I’ll ask my teacher to
prepare the materials.

Hanako: I'm looking forward to seeing the ballot boxes that you make!

Problem3 Taro made the [Idea Sketch] below. To make a ballot box according to the [Idea

Sketch], which set of wooden boards would be required? Answer with the katakana

character below from “777, “A7, “37 or “x”.
[Idea Sketch] Sketch of the view Sketch of the view from the top Sketch of the view
from the front (When the cover is open) from the back
T R —t
Ballot Box
4 0cm |
Y2 00m

306m

‘Wooden boards should be at least | cm thick.

7 lcm thick wooden boards (2 boards which are 38cm longX |1 8cm wide, 2 boards
which are 38cm longxX28cm wide, and 2 boards which are 30cm longX20cm wide)
4 lcm thick wooden boards (2 boards which are 38cm longX20cm wide, 2 boards
which are 38cm longX26cm wide, and 2 boards which are 30cm longX20cm wide)
2 2cm thick wooden boards (2 boards which are 36cm longX20cm wide, 2 boards
which are 36cm longX26cm wide, and 2 boards which are 30cm longX20cm wide)
I 2cm thick wooden boards (2 boards which are 36cm longX |1 6¢cm wide, 2 boards
which are 36cm longxX26cm wide, and 2 boards which are 30cm longX20cm wide)
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Taro:
Hanako

Taro:

Taro:

Teacher:

Hanako:

Teacher:

Hanako:

[Conversation® between Taro, Hanako, and their teacher]

There was an election for Saitama City council members in 2023, right?

¢ The electoral districts for the Saitama City council member election are the
same as the city’s wards. It looks like the number of council members who

were elected for each ward in 2023, in other words, the number of

representatives, was different from the previous election. Resource5 shows
the changes to the number of representatives for each electoral district.

I wonder why it changed.

representatives for each ward from resource5, you get the ratios of eligible

If you divide the numbers of eligible voters from resourceé by the number of

voters per council member. The goal is to make the difference between

those numbers as small as possible.

elections, one ward went down from 5 people to 4, and one ward went up

from 5 people to 6.

2019,the difference between most eligible voters and least was more than
20000 people. The election in 2023 had an even larger difference. Let’s

If we compare the number of representatives in the 2019 and 2023

If we compare the 5 wards that each had 5 representatives on the council in

think about the situations of those two wards in 2019 and 2023.

If we compare the ratios of eligible voters per council member in 2019, one
ward had a |.3 times larger ratio.

If we compare the ratios of eligible voters per council member in 2023, one

ward had a , and we can see that the difference is smaller than in

20149.

Resource5 Changes in Numbers of Representatives of Electoral Districts in Saitama City
Council Member Elections

Nishi Kita Omiya Minuma Chuo Sakura Urawa Minami Midori [watsuki Total
Ward Ward Ward Ward Ward Ward Ward Ward Ward Ward
At the time of the 2019 4 7 5 8 5 5 7 % 5 5 60
City Council Election
At the time of the 2023 4 7 5 8 5 4 7 9 6 5 60
City Council Election
(Based on Saitama City Website)
Resource6 Changes in Numbers of Eligible Voters in Each Ward
Nishi Kita Omiya Minuma Chuo Sakura Urawa Minami Midori [watsuki
Ward Ward Ward Ward Ward Ward Ward Ward Ward Ward
2019 74, 974 121, 2383 97, 528 135, 198 83, 671 79, 441 132, 958 153, 949 101,418 94, 342
2023 78, 650 125,016 103, 243 137, 833 86, 314 80, 530 137, 872 188, 216 106, 886 94, 658

*Data for both 2019 and 2023 are from March |5,

(Based on Saitama City Website)
Problem4 Which answer below matches the content of box in [Conversation®
between Taro, Hanako, and their teacher] ? Answer with the katakana character below

_From “7”’ “4”’ “rj”’ “l”.
7 About I.1 times larger ratio, and Midori Ward’s ratio became larger than Sakura Ward’s
4 About |.| times larger ratio, and Sakura Ward’s ratio became larger than Midori Ward’s

7 About |.2 times larger ratio, and Midori Ward’s ratio became larger than Sakura Ward’s

I About |.2 times larger ratio, and Sakura Ward’s ratio became larger than Midori Ward’s
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Taro and his mother are talking about the UK.

Answer problems | ~4 below.

[Conversation(D between Taro and his mother]

Taro: I have been thinking about doing some research about the UK, because we
are planning to go to London in January.

Mother: What kind of things are you going to research?

Taro: I want to research things like the UK’s population and international trade. I

also want to try researching about Japan, Germany, and China.

Taro found resourcel and wants to think about the various countries’ international

trade from the perspective of [Trade Surplus and Trade Deficit].

Resource| Population, Population Density, and Value of International Trade of Japan, the

UK, China, and Germany (2020)

Value of Value of
. Total value | Total value exports from imports from
. Population . . .
Population . of exports of imports Japan to this this country to
Density - -
(thousands) ) (millions of | (millions of country Japan
(people/km?)
dollars) dollars) (hundreds of (hundreds of
millions of yen) | millions of yen)
Japan 124,27 329 641,341 634,431
The UK 67,886 280 379,866 542,464 1,453 6,849
China 1,439,324 150 | 2,590,646 | 2,055,612 150,819 174,931
Germany 83,784 234 1,380,379 | 1,170,726 18,752 22,660

(Based on “Data Book of the World 2022 Edition”)

[Trade Surplus and Trade Deficit]

When the value of exports is higher than the value of imports, that is called a trade

surplus. Conversely, when the value of imports is higher than the value of exports, that
is called a trade deficit. In addition, the total value of exports and imports is called the
value of international trade.

Problem | Which of the following best describes what we can understand from resourcel ?

Answer with the katakana character from “7”, “A4”, “9”, or “L”.

7 If we look at Japan’s and the UK’s exports to and imports from all the countries, Japan
has a trade surplus, and the UK has a trade deficit. However, if we look at international
trade between Japan and the UK, Japan has a trade deficit.

4 If we look at China’s and the Germany’s exports to and imports from all the countries,
both China and Germany have trade surpluses. On the other hand, if we look at
international trade between Japan and Germany, Germany has a trade deficit.

7 In terms of value of international trade per person, the UK has more than Japan, and
Germany, which has a trade surplus, has even more than the UK.

I In terms of value of international trade per person, Germany has more than the UK,
and China, which has a trade surplus, has even more than Germany.
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[Conversation®@ between Taro and his mother]

Taro: Speaking of the UK, their black tea culture is pretty famous. When we go to
the UK, I want to meet up with Olivia, who lives there, and enjoy the UK’s
black tea culture. Speaking of which, I heard that teas, such as green tea,
black tea, and oolong tea, are all made from the same original tea leaves. I
wonder if that is really true.

Mother:  That’s right. For example, the country that produces the most tea leaves is
China, and those tea leaves are processed to make green tea, black tea,
pu’er tea, oolong tea, and more, which are consumed domestically in China
or exported to other countries.

Taro: Is that so? Now I’m interested in production, international trade, and

consumption of tea, so I'm going to research about it.

Taro researched about the countries with tea production, importation and

exportation, and consumption, and he found resource2, resource3, and resource4.

Resource2 Top |0 Countries by Tea Production in 10000tons (2020)

.\/fle'rgom
¢ 24
Thailand
, 10
“ » Srilanka Myanmar R L
W 28 13
Indonesia
/K 14
Renya Argentina
57 S
34

World Total 702

Resource3 Percentages of Top 5 Tea Exporting Countries and Top 5 Tea Importing

Countries (2020)
Exports Imports
| ' - Vietnam 5.9 i_The USA 5.6 |
|
Kenya China E:nka India Others Pakistan | Russia Others
26.9 163 | 135 (98 27.8 132 |79/ , | |, 62,6
! ! - The UK 6.8 — Egypt 3.9 !
0 20 40 60 80 100 (%) 0 20 40 60 80 100 (%)

(Resource?2 and resource3 are based on “Data Book of the World 2023 Edition”)
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Resource4 Amount of Tea Consumption by Major Countries
(Average of 3 years from 2018~2020)

Per Total
Person consumption

(kg) (in 10000 tons)
The UK .61 10.76
China .66 232.23
India 0.81 108. 81
Japan 0.79 10.01
Sri Lanka .35 2.94
Kenya 0.82 4.0l

X Tea refers to green tea, oolong tea, black
tea, and all other teas.
(Based on “Tea Statistics” from Japan Tea

Association)

Problem2 Which of the following best describes what we can understand from resource2,

resource3, and resource4? Answer with the katakana character from “7”, “4”, “>”,

Or “l” .

7 Tea production is centralized around China, India, and Sri Lanka, and these counftries

are the main exporters. The UK imports the third most tea, and consumes roughly the

same amount of tea as Japan and Sri Lanka.

4 China produces about 30% of the world’s tea. China’s tea consumption per person is

about the same as the UK’s, but China’s total consumption is more than 20 times higher
than the UK’s.

7 India ranks after China in tea production and produces about 20% of the world’s tea.

India’s total tea consumption is about |0 times higher than the UK’s, but its tea

consumption per person is about half that of the UK and China.

I Kenya ranks highly in world tea production, and exports the most in the world. Kenya’s

total tea consumption is less than half that of Japan, and its tea consumption per

person is also lower than Japan’s.
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[Conversation® between Taro and his mother]
Taro: I promised Olivia that when I go to the UK, I will enjoy afternoon tea with
her. I will meet up with her two hours after we arrive at London’s Heathrow
Airport.
Mother: Do you know what time our plane leaves on that day?
Taro: Our plane leaves from Haneda Airport on January 'rh at .
Mother: The time difference between Tokyo and London is 9 hours, and London is 9
hours behind Tokyo. So, if we subtract 9 hours from the time in Tokyo, we can
know

the time in London. Don’t forget to set your watch.

Problem3 Using[Taro’s Schedule] below, what combination of date and time fits in
spaces and in [Conversation® between Taro and his mother] ? Answer with the

”

katakana character below from “7”, “4”, “9”  or “L”.

[Taro’s Schedule]
OBoard the direct flight at Tokyo’s Haneda Airport bound for London.

V (12hours)
OArrive at London’s Heathrow Airport
I (2hours)
O3:30PM (London Local Time) January | |th Meet up with Olivia.

7

10 B 4:30PM 4 A 10 B 10:30PM

A
A Il B [|:30AM T A Il B [|0:30AM

NG

[Conversation® between Taro and his mother]

Taro: Before I meet up with Olivia, I want to get better at speaking English. Is
there any way to make studying English fun?

Mother: How about testing whether you can understand English by watching your

favorite foreign films with no subtitles?

Taro: Do you mean by renting a DVD?

Mother:  There are many movies available for streaming online, so why not choose from
those?

Taro: It’s so convenient to watch movies online. Now I'm interested in how many

movies are becoming available online, so I'm going to research about it.
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Taro, who became interested in online streaming, found resource5 below.

Resource5 Changes in World Media Sales ~ Movies = Music [] Total

sevseevees Publications  sessmsms V7140 games

Physical Media Sales Digital Media Sales -
(billion dollars) (billion dollars)  (billion dollars) & (billion dollars)
500 = 1.000 500 1.000
450 | 855869872 861 855840 850 8477 846845 Q00 L 200
ZZ 400 4 e = =G | o] e g SOO 400. Bw
i g5
=8 30H - H - 700 %.2.350 ................................................. 700
- A Ly
52 300 et {600 &£ 300} 600
= ] as 5
Q b EOT PN . O e
gg, 250 : ety HEOOE  O8 250 500 3
g 5% =
28 200 400 32 200} 400
150 300 150 1300
(o) e o e o oll== 1 0
201415 16 17 18 192 20 21 22 23 (year) 201415 16 17 18 19 20 21 22 23 (year)

XData after 2019 are estimates. Physical media means actual items such as DVDs and CDs,
and digital media means data which is accessible over the internet.
(Based on “Outline of World and Japanese Media Sales”

from the Ministry of Economy, Trade, and Industry)

Problem4 Which of the following best describes what we can understand from resource5?
Answer with the katakana character from “7”, “A4”, “©2”, or “L.”.

7 World media sales are primarily physical media sales, but while physical media sales
were 4 times larger than digital media sales in 2017, digital media sales increased
from then and by 2023 were thought to be more than half as much as physical media
sales.

1 As digital media sales grow, world physical media sales have slowly shrunk, and media
sales of videos and music are on track to become primarily digital.

7 World digital media sales had roughly doubled in the 5 years after 2014, and game
sales grew particularly to the extent that they were larger than physical music sales
in 2018.

I Digital publication sales have been growing faster than the rate that income from
physical publication sales has been shrinking, and publication sales are thought to

become an exemplary model of digital media sales replacing physical media sales.

This is the end of the examination.
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